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Summary of this paper

» Background:

— Transition in the structure of Chinese population:
 working-age population peaked in 2010 (or 2013)
« The population dependency ratio increased in 2011.

— Demographic dividend in economic growth in China is
disappearing.

* Purpose:

— To identify the sources of economic slowdown and
provide policy suggestions on the relevant reforms



Summary of this paper

« Approach:

— Add the variable of human capital to a standard Cobb-Douglas
production function: Y = AK#(hL)«

— Get a potential growth rate function:

A, IS =y 1y ) < (R 7k L) —1 (Equation 2.4)
— A L (Equation 2.3)
[Ayt / yt—J =AA T A+ alk Tk,
— The potential growth rate of employment (;/L;_,):

L = population,;, , x Tr, . x (1— NAIRU ¢, ,)

— Population: the total fertility rate (TFP)




Summary of this paper

 Simulation analysis:

— Relaxing the population fertility policy (TFR)— + In
long term

— Increasing the labour force participation rate — -, but
the effect is diminishing

— Increasing TFP — +, and the effect is ascending

— Human capital:
* Increasing the enrolment rate — -, but the effect is limited.
* In creasing training ——+, the effect is more significant



Summary of this paper

* 5 Policy suggestions.
— Skipped.

 Overall evaluation:
— It Is very interesting paper!
— It made a good contribution to policy application!



Comment 1

* Measurement of labour productivity?
— Equation 1: Y = AK#¢(hL)l-~
— Equation 2: Y/hL = A(K/hL)* (Labour
productivity)

— Human capital, h, has negative effect on labour
productivity, but normally has positive effect




Comment 2

Alternative model:
—Y/L=AK/L)*h1™% -y = Ak*h1% (1)
— First difference of log term of equation (1):
— Ay /ye-1 = DA /Ae 1 + abke/keq +|(1—a)Ahe/he4)(2)

Equation 2.4:

A, 1Y =AY, 1Y+ D) x (bl /h L) -1
-~ -

AYy /Yy = (Wye/yea + DL/ Ley) = 1
~

AYt*/Yt*—l — A
(MAc/Ar—q + @ AR /ki_q + B AR /he_q)(Lt/Li—1) — 1




Comment 3

“The total factor productivity (TFP) growth
rate will decline when rural-to-urban migration
ends.”

How and why?
How do you estimate the TFP?

Aye/ye—1 =c+albky/ke_q + 1y



